

Panaji, 22nd August, 2022 (Sravana 31, 1944)

**SERIES I NO. 20**

# OFFICIAL GAZETTE

## GOVERNMENT OF GOA

PUBLISHED BY AUTHORITY

## EXTRAORDINARY

### No. 2

#### GOVERNMENT OF GOA

Department of Finance

Revenue &amp; Control Division

#### Notification

1-174-2020-21/DSSL/691

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and in supersession of the Government Notification No. 1-174-2020-21/DSSL/2089 dated 2nd December, 2021, published on the Official Gazette (Extraordinary), Series I No. 36 dated 2nd December, 2021, the Government of Goa hereby frames the following weekly lottery schemes, namely:—

GOA STATE LOTTERIES

DEPARTMENT OF FINANCE (REVENUE &amp; CONTROL DIVISION)

**RAJSHREE 10 EVENING SOM WEEKLY LOTTERY FROM 53rd DRAW ON 05-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING MANGAL WEEKLY LOTTERY FROM 53rd DRAW ON 06-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING BUDH WEEKLY LOTTERY FROM 53rd DRAW ON 07-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING GURU WEEKLY LOTTERY FROM 53rd DRAWS ON 08-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING SHUKRA WEEKLY LOTTERY FROM 53rd DRAW ON 09-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING SHANI WEEKLY LOTTERY FROM 53rd DRAW ON 10-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

**RAJSHREE 10 EVENING RAVI WEEKLY LOTTERY FROM 53rd DRAW ON 11-09-2022**

Rank	No. of Prizes	Prize Amount	Total Prize Amount	Draw Method
1st	50	10,000	5,00,000	On 1 Time On 4 Digits Without Series
2nd	50	5,000	2,50,000	On 1 Time On 4 Digits Without Series
3rd	50	500	25,000	On 1 Time On 4 Digits Without Series
4th	50	300	15,000	On 1 Time On 4 Digits Without Series
5th	50	200	10,000	On 1 Time On 4 Digits Without Series
6th	19,500	100	19,50,000	On 390 Times On 4 Digits Without Series
<b>TOTAL</b>	<b>19,750</b>		<b>27,50,000</b>	

(a) The name of the lottery or lottery scheme : As mentioned above.

(b) Face value of the lottery ticket : Rs. 10/-

(c) Total number of tickets printed in case of paper lottery :  
Total Tickets: 5,00,000 : Numbering 50 to 99/0000 to 9999

(d) MRP value of the tickets printed : Rs. 50,00,000/- (Rupees Fifty Lakh only)

(e) Face Value of the Tickets (MRP Less GST) : Rs. 39,06,250/- (Rupees Thirty Nine Lakh Six Thousand Two Hundred Fifty).

(f) Name or names of the distributors or selling agents with their addresses and contact information  
Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim  
M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Weekly Draw, Draw Time : 5.40 p.m. onwards.

(j) The place where the draw shall be conducted :  
Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(k) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.  
Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

- (l) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (m) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (n) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (o) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note:* Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force with effect from 5th day of September, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat, Under Secretary, Finance (R&C).*

Porvorim, 22nd August, 2022.

#### **Notification**

1-174-2020-21/DSSL/692

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and in supersession of the Government Notification No. 1-174-2020-21/DSSL/2093 dated 2nd December, 2021, published on the Official Gazette (Extraordinary), Series I No. 36 dated 2nd December, 2021, the Government of Goa hereby frames the following monthly lottery scheme, namely:—

#### GOA STATE LOTTERIES

#### RAJSHREE 50 MONTHLY LOTTERY

#### **12th DRAW ON 22-09-2022 & ONWARDS (4th THURSDAY OF EVERY MONTH)**

Rank	No. of Prize	Prize Amount	Super Prize Amount	Draw Method
1st	1	19,00,000	1,00,000	On one time on 5 digits with Series.
2nd	50	9,000	1,000	On five times on 5 digits without Series. Applicable to all series.
3rd	200	2,000	500	On five times on 4 digits without Series. Applicable to all series.
4th	400	1,000	500	On 10 times on 4 digits without Series. Applicable to all series.
5th	800	400	50	On 20 times on 4 digits without Series. Applicable to all series.
6th	18,000	200	20	On 450 times on 4 digits without Series. Applicable to all series.
<b>TOTAL</b>	<b>19,451</b>	<b>70,70,000</b>	<b>8,50,000</b>	

- (a) The name of the lottery or lottery scheme : Rajshree 50 Monthly Lottery.
- (b) Face value of the lottery ticket : Rs. 50/-
- (c) Total number of tickets printed in case of paper lottery :  
Total Tickets: 4,00,000 : Numbering ABCDEGHJKL/60000 to 99999

(d) MRP value of the tickets printed : Rs. 2,00,00,000/- (Rupees Two Crore only).

(e) Face Value of the Tickets (MRP Less GST) : Rs. 1,56,25,000/- (Rupees One Crore Fifty Six Lakh Twenty Five Thousand).

(f) Name or names of the distributors or selling agents with their addresses and contact information  
 Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
 G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
 E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim  
 M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Monthly – 4th Thursday of Every Month.

(j) Draw Time : 06.30 p.m. onwards.

(k) The place where the draw shall be conducted :  
 Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

(n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.

(o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.*

This Notification shall come into force with effect from 22nd day of September, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat, Under Secretary, Finance (R&C).*

Porvorim, 22nd August, 2022.

---

### Notification

1-174-2020-21/DSSL/693

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and in supersession of the Government Notification No. 1-174-2020-21/DSSL/2094 dated 2nd December, 2021, published on the Official Gazette (Extraordinary), Series I No. 36 dated 2nd December, 2021, the Government of Goa hereby frames the following monthly lottery scheme, namely:—

**GOA STATE LOTTERIES**  
**RAJSHREE 100 MONTHLY LOTTERY**

**12th DRAW ON 06-10-2022 & ONWARDS (1st THURSDAY OF EVERY MONTH)**

Rank	No. of Prize	Prize Amount	Super Prize Amount	Draw Method
1st	1	29,00,000	1,00,000	On one time on 5 digits with series.
2nd	2	99,000	1,000	On two times on 5 digits with series.
3rd	200	9,000	1,000	On five times on 4 digits without Series. Applicable to all series.
4th	400	5,000	1,000	On 10 times on 4 digits without Series. Applicable to all series.
5th	800	1,000	500	On 20 times on 4 digits without Series. Applicable to all series.
6th	1600	500	200	On 40 times on 4 digits without Series. Applicable to all series.
7th	18,000	300	50	On 450 times on 4 digits without Series. Applicable to all series.
<b>TOTAL</b>	<b>21,003</b>	<b>1,38,98,000</b>	<b>23,22,000</b>	

(a) The name of the lottery or lottery scheme : Rajshree 100 Monthly Lottery.

(b) Face value of the lottery ticket : Rs. 100/-.

(c) Total number of tickets printed in case of paper lottery :  
 Total Tickets: 4,00,000 : Numbering ABCDEGHJKL/20000 to 59999

(d) Gross value of the tickets printed : Rs. 4,00,00,000/- (Rupees Four Crore only).

(e) Face Value of the Tickets (MRP Less GST) : Rs. 3,12,50,000/- (Rupees Three Crore Twelve Lakh Fifty Thousand).

(f) Name or names of the distributors or selling agents with their addresses and contact information  
 Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
 G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
 E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim  
 M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Monthly – 1st Thursday of Every Month.

(j) Draw Time : 06.30 p.m onwards.

(k) The place where the draw shall be conducted :  
 Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.  
 Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010 The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

(n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.

- (o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note:* Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force with effect from 6th day of October, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat*, Under Secretary, Finance (R&C).

Porvorim, 22nd August, 2022.

### Notification

1-174-2020-21/DSSL/694

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and in supersession of the Government Notification No. 1-174-2021-22/DSSL/Part-III/3161 dated 23rd December, 2021, published on the Official Gazette, Extraordinary No. 2, Series I No. 39 dated 27th December, 2021, the Government of Goa hereby frames the following monthly lottery scheme, namely:—

#### GOA STATE LOTTERIES

#### RAJSHREE 200 MONTHLY LOTTERY

#### 9th DRAW ON 20-10-2022 & ONWARDS (3rd THURSDAY OF EVERY MONTH)

Rank	No. of Prize	Prize Amount	Super Prize Amount	Draw Method
1st	1	50,00,000	1,00,000	On one time on 5 digits with series.
cons	4	4,50,000	50,000	Applicable on all remaining series of first prize winning number.
2nd	50	95,000	5,000	On 10 times on 5 digits without series. Applicable to all series.
3rd	500	9,000	1,000	On 10 times on 4 digits without series. Applicable to all series.
4th	500	5,000	500	On 10 times on 4 digits without series. Applicable to all series.
5th	1000	3,000	150	On 20 times on 4 digits without series. Applicable to all series.
6th	2500	1,000	100	On 50 times on 4 digits without series. Applicable to all series.
7th	25000	500	50	On 500 times on 4 digits without series. Applicable to all series.
<b>TOTAL</b>	<b>29,555</b>	<b>3,65,50,000</b>	<b>29,50,000</b>	

- (a) The name of the lottery or lottery scheme : Rajshree 200 Monthly Lottery.
- (b) Face value of the lottery ticket : Rs. 200/-.
- (c) Total number of tickets printed in case of paper lottery : Total Tickets: 5,00,000 : Numbering ABCDE/00000 to 99999.
- (d) Gross value of the tickets printed : Rs. 10,00,00,000/- (Rupees Ten Crore only).
- (e) Face Value of the Tickets (MRP Less GST) : Rs. 7,81,25,000/- (Rupees Seven Crore Eighty One Lakh Twenty five Thousand).

(f) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim.  
M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Monthly – 3rd Thursday of Every Month.

(j) Draw Time : 06.30 p.m. onwards.

(k) The place where the draw shall be conducted :

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

(n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.

(o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.*

This Notification shall come into force with effect from 20th day of October, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat, Under Secretary, Finance (R &C).*

Porvorim, 22nd August, 2022.

### Notification

1-174-2020-21/DSSL/695

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and section 21 of the General Clauses Act, 1897, the Government of Goa hereby rescinds the following Government Notification w.e.f. 05-09-2022 onwards, namely:—

(1) 1-174-2021-22/DSSL/Part-II/3163 dated 23rd December, 2021, published in Official Gazette, Extraordinary No. 2, Series I No. 39 dated 27th December, 2021.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat, Under Secretary, Finance (R&C).*

Porvorim, 22nd August, 2022.

**Notification**

1-174-2020-21/DSSL/696

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 and section 21 of the General Clauses Act, 1897, the Government of Goa hereby rescinds the following Government Notification w.e.f. 05-09-2022 onwards, namely:—

(1) 1-174-2020-21/DSSL/2087 dated 2nd December, 2021, published in Official Gazette, (Extraordinary), Series I No. 36 dated 2nd December, 2021.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat*, Under Secretary, Finance (R & C).

Porvorim, 22nd August, 2022.

**Notification**

1-174-2020-21/DSSL/697

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 the Government of Goa hereby frames the following weekly lottery schemes, namely:—

GOA STATE LOTTERIES

DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)

**RAJSHREE 50 SOM WEEKLY LOTTERY FROM 1st DRAW ON 05-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 MANGAL WEEKLY LOTTERY FROM 1st DRAW ON 06-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with Series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.

## OFFICIAL GAZETTE — GOVT. OF GOA

SERIES I No. 20

(EXTRAORDINARY No. 2)

22ND AUGUST, 2022

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 BUDH WEEKLY LOTTERY FROM 1st DRAW ON 07-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 GURU WEEKLY LOTTERY FROM 1st DRAW ON 08-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with Series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 SHUKRA WEEKLY LOTTERY FROM 1st DRAW ON 09-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.

## OFFICIAL GAZETTE — GOVT. OF GOA

SERIES I No. 20

(EXTRAORDINARY No. 2)

22ND AUGUST, 2022

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 SHANI WEEKLY LOTTERY FROM 1st DRAW ON 10-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

**RAJSHREE 50 RAVI WEEKLY LOTTERY FROM 1st DRAW ON 11-09-2022**

Rank	No. of Prize	Prize Amount	Total Prize	Draw Method
1st	1	10,00,000	10,00,000	On 1 time on 4 digits with series.
Con.	24	5,000	1,20,000	Applicable on all remaining series of first prize winning number.
2nd	150	2,000	3,00,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
3rd	150	1,000	1,50,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
4th	150	500	75,000	On 6 times on 4 digits without series. No repetition of any number of any ranks.
5th	150	250	37,500	On 6 times on 4 digits without series. No repetition of any number of any ranks.
6th	12,500	100	12,50,000	On 500 times on 4 digits without series. No repetition of any number of any ranks.
<b>TOTAL</b>	<b>13,125</b>		<b>29,32,500</b>	

(a) The name of the lottery or lottery scheme : As mentioned above.

(b) Face value of the lottery ticket : Rs. 50/-.

(c) Total number of tickets printed in case of paper lottery :

Total Tickets: 1,50,000 : Numbering 50 – 74 / 1000 to 6999

(d) Gross value of the tickets printed : Rs. 75,00,000/- (Rupees Seventy Five Lakh only).

(e) Face Value of the Tickets (MRP Less GST) : Rs. 58,59,375/- (Rupees Fifty Eight Lakh Fifty Nine Thousand Three Hundred Seventy Five).

(f) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim.  
M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Weekly Draw, Draw Time : 7.30 p.m. onwards.

(j) The place where the draw shall be conducted :  
Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(k) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.  
Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(l) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

(m) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.

(n) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(o) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, Time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note:* Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force with effect from 5th day of September, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat*, Under Secretary, Finance (R & C).

Porvorim, 22nd August, 2022.

---

### Notification

1-174-2020-21/DSSL/698

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following monthly lottery scheme, namely:—

GOA STATE LOTTERIES  
RAJSHREE 500 MONTHLY LOTTERY

**1st DRAW ON 13-09-2022 & ONWARDS (2nd TUESDAY OF THE MONTH)**

Rank	No. of Prize	Prize Amount	Super Prize Amount	Draw Method
1st	1	99,00,000	1,00,000	On 1 time on 5 digits with series.
Cons.	4	9,00,000	1,00,000	Applicable on all remaining series of first prize winning number.
2nd	50	90,000	10,000	On 10 times on 5 digits without series. Applicable to all series.
3rd	500	9,000	1,000	On 10 times on 4 digits without series. Applicable to all series.
4th	1000	8,000	1,000	On 20 times on 4 digits without series. Applicable to all series.
5th	1000	5,000	1,000	On 20 times on 4 digits without series. Applicable to all series.
6th	1000	4,000	1,000	On 20 times on 4 digits without series. Applicable to all series.
7th	2500	3,000	1,000	On 50 times on 4 digits without series. Applicable to all series.
8th	20000	2,000	200	On 400 times on 4 digits without series. Applicable to all series.
<b>TOTAL</b>	<b>26,055</b>	<b>8,70,00,000</b>	<b>1,10,00,000</b>	

(a) The name of the lottery or lottery scheme : Rajshree 500 Monthly Lottery.

(b) Face value of the lottery ticket : Rs. 500/-.

(c) Total number of tickets printed in case of paper lottery :  
Total Tickets: 5,00,000 : Numbering ABCDE/00000 to 99999

(d) Gross value of the tickets printed : Rs. 25,00,00,000/- (Rupees Twenty Five Crore only).

(e) Face Value of the Tickets (MRP Less GST) : Rs.19,53,12,500/- (Rupees Nineteen Crore Fifty Three Lakh Twelve Thousand Five Hundred).

(f) Name or names of the distributors or selling agents with their addresses and contact information  
Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim.  
M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Monthly – 2nd Tuesday of the Month.

(j) Draw Time : 06.30 p.m. onwards.

(k) The place where the draw shall be conducted :  
Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

- (m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note:* Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force with effect from 13th day of September, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat*, Under Secretary, Finance (R&C).

Porvorim, 22nd August, 2022.

### Notification

1-174-2020-21/DSSL/699

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010 the Government of Goa hereby frames the following bumper lottery scheme, namely:—

GOA STATE LOTTERIES

RAJSHREE 2000 BUMPER

**1ST DRAW ON 09-11-2022 (2nd WEDNESDAY)**

Rank	No. of Prize	Prize Amount	Super Prize Amount	Draw Method
1st	1	1,98,00,000	2,00,000	On 1 time on 4 digits with series.
CONS.	19	9,00,000	1,00,000	Applicable on all remaining series of first prize winning number.
2nd	20	4,50,000	50,000	On 20 times on 4 digits - One number in each series.
3rd	200	90,000	10,000	On 10 times on 4 digits without series. Applicable to all series.
4th	1000	9,000	1,000	On 50 times on 4 digits without series. Applicable to all series.
5th	1000	8,000	2,000	On 50 times on 4 digits without series. Applicable to all series.
6th	1000	7,000	2,000	On 50 times on 4 digits without series. Applicable to all series.
7th	8000	6,000	1,500	On 400 times on 4 digits without series. Applicable to all series.
<b>TOTAL</b>	<b>11,240</b>	<b>13,59,00,000</b>	<b>2,21,00,000</b>	

OFFICIAL GAZETTE — GOVT. OF GOA  
(EXTRAORDINARY No. 2)

SERIES I No. 20

22ND AUGUST, 2022

(a) The name of the lottery or lottery scheme : Rajshree 2000 Bumper.

(b) MRP value of the lottery ticket : Rs. 2,000/-.

(c) Total number of tickets printed in case of paper lottery :  
Total Tickets: 2,00,000 : Numbering 40 – 59 / 0000 to 9999.

(d) Gross value of the tickets printed : Rs. 40,00,00,000/- (Rupees Forty Crore only).

(e) Face Value of the Tickets (MRP Less GST) : Rs. 31,25,00,000/- (Rupees Thirty One Crore Twenty Five Lakh).

(f) Name or names of the distributors or selling agents with their addresses and contact information  
Sole Purchaser : M/s Summit Online Trade Solutions Pvt. Ltd.  
G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.  
E-mail: [contact@sugaldamani.com](mailto:contact@sugaldamani.com)

Area Distributor : M/s Serenity Trades Pvt. Ltd., Maharashtra, Goa & Sikkim.  
M/s Summit Online Trade Solutions Pvt. Ltd., Punjab.

(g) Prize Structure : As mentioned above.

(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Bumper Draw Time 6.30 p.m. onwards.

(j) The place where the draw shall be conducted :  
Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

(k) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.  
Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(l) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

(m) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.

(n) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(o) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code.

*Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.*

This Notification shall come into force with effect from 9th day of November, 2022.

By order and in the name of the Governor of Goa.

*Pranab G. Bhat, Under Secretary, Finance (R & C).*

Porvorim, 22nd August, 2022.